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109 years

110 years

111 years

112 years

113 years

Compton

Dos Palos

Greene

Highland

West Liberty

Alaska

Louisiana

Missouri

Oregon

South Dakota

Ages Names States Hometowns

109 years

110 years

111 years

112 years

113 years

1. The person who lives in Compton is 2 years younger than the Louisiana native..

2. Neither the Oregon native nor the person who is 113 years old is Yolanda..

3. Larry is 112 years old..

4. Of the person who lives in Greene and Doris, one is 112 years old and the other is a native of South Dakota..

5. Doris doesn't live in West Liberty..

6. The Missouri native is  older than Tim..

7. Of Tim and Yolanda, one is 109 years old and the other is a native of Louisiana..

8. The centenarian who is 110 years old is a native of Alaska..

9. Larry is 2 years older than the centenarian who lives in Highland..
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